EARAROBEEIERT — 2 N— IBISH —F

2018510828 (K) 7EIARHE2H

BLEY <7 - che7smmsssr>x ¥ 5%

‘ [Riz] ¥ ‘ [REBE] — | & (&) 12000 FHE

[A&4£] 1 7 :3,500,000 @ 23 :1,400,000 @ 33 :875,000 4 3% :525,000 @ . 5 7 :350,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S, 46 | EMAEIE 1:12.6 1-1-1 37.5| — 1 66 | NNBE— (#348)
11718 ¥—7084 57.0 (= (-2) | KABRIIR ;
L:o—LibFLsn Bixo—U 1 L4%5%
. o — 2 G
5 2| ZFAN—=TU 2 # o7 g{léﬁ 1.(143).5 565 |37.7 8 | 517 %\@é@ ()
R:F>T747 B:LAFqjaAvH (#5) DOHHE
t 7 | EBHET 1:13.7 2-2-2 | 38.4| — 5 469 | PREA (fints)
3 6|/ —AHNOR % 57.0 (3/4) 42 |NIES
L:ALnwyFIbE B:a%rvan 21405
S5 . B 5 | HARER 1:13.7 4-3-3  |38.2| — 2 441 | WA (fa4E)
1 : BEEEETE 530 (F5) AT
x40 B:TLAYIL X & %
RS IRFESE :13. -3 . — R (AAfE)
slgliolvay s 7uez i o8 w (/1\:;)7 6-3-4 | 38.2 3 ;1318) el
LivAxNTT BYIN it e
N N FEBIRE :13. -10- . - WA (fafE)
6 7 XLHANLF 4 5 5_0 1 (113)9 10-10-10 | 37.5 7 (i?;) e
LY LTAN—b BANLELRTAUZR #E EM
3 4t 5 | JISEXER 1:14.1 8-9-9 [37.9| — 10 | 463 |WAZE (#18)
7107|9873 x—h— 53.0 ) @2 | (B) I pEk
LIV ATA—hH— B:a2rvauLy—F EEZ e
N == hilkES : -7~ — WSEE (ROHE)
8 4| N=RTH T 9 2] 1(.11/42.)2 3-7-8  [38.2 1 (zgz) L
R:d—hqA B LKA B Ly K
. . AEES 14, g 0| - BAER (111)
9l5|5|r1TTRY—F 5 R 1714t)2 7-8-7 | 38.0 9 (42)0) Bl
R:TINTTY BAAIRLETHY g
S S s 4 7 | EEEEE 1:15.2 11-11-11 [37.8| — 6 472 | BHEBB (fafE)
001|1|LvT>F-7757 5.0 ) ) | mEE—
L:vA4xIWTT B:LAR—<TF L TERAKS
e s N SEER : -5~ — gEE (1)
1118[11| FZ73>>anUT # 5 | 2% 1.(125>.6 9-5-6 | 39.8 4 (4_937) e
A TATv— BTV A J=HrTr—L
® I —F—@EBIERL
13—7+—
2= = 8,6,4,3,2,10,5,9,11,7,1
Jol=5r= 8,6,(3,10),11,2,4,5,9,7 1
40—+ — 8,6,3,10,2,11,5,4,9,7,1
[ N3
BB 8 210H 714K 2-8 670M % E 2-7 1,760M 3EHE 2-6-8 6,310/
8 B 8 130H4 6-8 720M B 7-2 2,130M K31 8-2-6 20,590
2 300H 2-6 2,760 B E 2-8 1,940/
6 480M B H 8-2 2,290

ABICOVWTRDTEEERROODE. TR LIV,




